	Предмет: английский язык
	Класс:11 класс

	Дата:
	Время реализации урока: 40 минут

	Образовательное учреждение: МОАУ «Гимназия № 3»

	Тема урока: Формирование грамматических навыков учащихся. Подготовка к ЕГЭ

	Тип урока: урок обобщения и систематизации знаний

	

	Форма урока: урок применения предметных умений, решения практических задач.

	Цель урока:
	Создание условий для совершенствования коммуникативных навыков и лексико-грамматических навыков

	Ценность урока:
	- научить применять теоретические знания на практике;

- добывать знания и практически применять их.

	Планируемые результаты урока:
	-формирование практических умений использовать полученные знания;

-осознание возможности самореализации средствами иностранного языка 

-формирование мотивационной основы учебной деятельности, включающей социальные, учебно-познавательные и внешние мотивы

	Задачи урока:
	Образовательный аспект:

1.Направить деятельность на активизацию грамматических и лексических навыков и умений;

2.Актуализировать их опыт по теме;

3.Обобщить пройденный материал;

Развивающий аспект:

1.Содействовать развитию умения общаться на иностранном языке;

2.Формировать мотивацию к изучению иностранного языка;

3.Развивать воображение, внимание, логическое мышление, языковую догадку;

4.Развивать эрудицию, сообразительность, креативность, нестандартное мышление.

Воспитательный аспект:

1.Повышать интерес к изучению иностранного языка 

2.Воспитывать культуру иноязычного общения;

3.Воспитывать умение работать в сотрудничестве, уважительно относиться друг к другу и внимательно слушать собеседника.

Познавательный аспект:

1.Содействовать развитию познавательного интереса у учащихся.

	Формируемые УУД:
	Предметные:
-уметь использовать нужную форму слова в  тексте;

-развивать у учащихся грамматические и лексические навыки работы  с текстом

Личностные:
-формировать такие качества как доброжелательность, заинтересованность, умение слушать друг друга, толерантность.

Метапредметные:
· Познавательные УУД: уметь ориентироваться в своей системе знаний, осуществлять анализ объектов, выполнять задания с опорой на зрительные образы, преобразовывать информацию из одной формы в другую, произвольно использовать полученные знания в речи устанавливать причинно-следственные связи, строить логическое рассуждение;

· Коммуникативные УУД: уметь слушать и понимать речь других, осознанно и в соответствии с нормами языка использовать лексические единицы, грамматические структуры при взаимодействии с другими учащимися, уметь работать в коллективе, уметь сформулировать собственное мнение и позицию, уметь организовывать учебное сотруничество и совместную деятельность с учителем и сверстниками.

· Регулятивные УУД: уметь определять и формулировать цель на уроке, планировать своё действие в соответствии с поставленной задачей, вносить необходимые коррективы в действие после его завершения на основе его оценки и учёта характера сделанных ошибок, выполнять учебные действия в материализованной и громко – речевой формах.

	Формы организации деятельности:
	Фронтальная, групповая, индивидуальная

	Используемые технологии:
	-здоровьесберегающие технологии;

-технология сотрудничества;

-технология проблемного обучения;

-технология коммуникативного обучения;

-технология критического  мышления, 

-технология деятельностного подхода в изучении английского языка

	Методы:
	-словесные: беседа, вопросно-ответные упражнения;

-наглядно-демонстрационный;

-использование компетентностного и деятельностного подходов.

	Приёмы:
	-сравнение;

-самоконтроль;

-взаимоконтроль

	Дидактическое обеспечение урока:
	Учебник “Spotlight” 11

	Структура урока:

Этапы урока:
	1.Этап «Организационно-мотивационный»
2.Этап «Информационно-аналитический»
3. Рефлексивно-оценочный (итог, оценивание, домашняя работа, рефлексия).



Структура урока

	Этап
	Деятельность учителя
	Деятельность ученика

	Организационно-мотивационный
	Good morning, pupils.
Is it important to know foreign languages nowadays?
What should we learn to speak languages fluently?

You are right! And today we’ll revise the steps of doing the 3rd part of your school-leaving exam on English.
	Good morning, teacher.
Of course, it is.
We should learn the words and grammar rules.



	Информационно-аналитический
	There are 3 texts in this part of the exam. In the 1st text there are some missing words, they are written on the right of the text. You should transform these words in order to suit the content.
Before doing this task read the whole text and understand its main idea, don’t pay attention to the gaps. After that it’s necessary to fill in the gaps with the right words. Is it clear?

Let’s start our work.

1. If it is a personal pronoun, define its case, it may be used as a possessive adjective or a possessive pronoun:

- Thinking something was wrong, I immediately called _____.   HE
2. If it is a verb, think about the tense, find the adverbs in the text, look at the verb of previous sentence. Don’t forget about the passive voice!

- In English-speaking countries they celebrate Valentine’s Day and Mother’s Day. In Russia we celebrate the International Women’s Day. Though it ____ “International”, it is observed only in Russia and some CIS countries.    CALL
3. If it is a numeral, most likely you should create the ordinal numeral.

- Do you know the story behind the invention of video games? Here is the story of the __________ video game.    ONE
4. If it is an adjective don’t forget about the degrees of comparison.

- Have you ever celebrated Maslenitsa? It is one of the ______ festivals in Russia. It signals the end of winter and welcomes the coming of spring.    POPULAR

5. If it is a noun, pay attention to the number.

- Mr. Jones and Mr. Brown worked in the same office. Their ______ were good friends. One day Mr. Jones invited Mr. Brown to a small party.    WIFE

If you are not sure in your answer, try to guess it. Finally, reread your text and check up if the used words are right. Don’t forget to write your answers in the form.

Now work by yourselves with this text.
	Yes, it is.

It’s an objective case, we use the word him.

We should use Passive voice – is used- as the focus is on the action. It is not important or not known, however, who or what is performing the action.

We see the definite article so we use the ordinal numeral – first.

In this sentence we should use the superlative degree – most popular.
It is an irregular noun, it is written in plural as – wives.
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	The 2nd text is connecting with word building. There are some missing words, they are written on the right of the text. You should transform these words in order to suit the content. It’s necessary to understand what part of speech is right and remember its suffixes (i. g. noun – -ment, -ness, -ism; adjective – -ful, -ate, -ous; adverb – -ly.) Sometimes you should also use prefixes – -dis, -im, -in, -un.

Before doing this task read the whole text and understand its main idea, don’t pay attention to the gaps. After that it’s necessary to fill in the gaps with the right words. Is it clear?

Then read the sentence and pay attention to the words before and after the gaps, if there are the prepositions, articles, etc. It may help you to define the missing part of speech. Pronounce the word to yourselves if it is OK – put it down. After filling out the gaps, read the text.
Let’s start our work. 

1. Almost a quarter of all the ______ of the planet will live in Africa.    INHABIT

2. The report suggests that if the birth rates stay the same, there’ll be a huge expansion of the ________ population.    GLOBE

3. The report says that the world’s population is likely to be _______ older. The average age will be fifty while today it is twenty six.    SIGNIFICANT

4. You may think it is _____ but three centuries from now there may be over one hundred and thirty trillion people.  POSSIBLE

5. This report can help environmental _____ and policy-makers to understand dramatic changes in the world’s population in the future.    SCIENCE
Good work!

If you are not sure in your answer, try to guess it. Finally, reread your text and check up if the used words are right. Don’t forget to write your answers in the form.

Do exercise at page 153 in your textbooks.
And now there is one more text for you.
	Yes, it is.

Here we see the definite article “the” it means that we should use the noun, also we see the word “all”, we put it in plural, the answer is – inhabitants.
The missing word is after the article and before the noun, it is necessary to use the adjective – global.

The missing word applies to the verb, it means that we should use the adverb- significantly.
The gap is after the verb “is”, there is no article, perhaps we should use the adjective with the negative meaning – impossible.

The missing word is situated after the adjective, the conjunction “and” means the sentence with homogeneous parts, so the word is a noun in plural – scientists.
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	And in the 3rd part of this task you see the text with the missing words. After the text there are 4 answers for each gap, you should choose one of them. Is it clear? 

Before doing this task read the whole text and understand its main idea, don’t pay attention to the gaps, try to complete this gap with your own answer, when you’ll read the suggested answers, you’ll see it. Most likely, the right word is the word that you know, not one that you see for the first time.
The choice of the right word may depend on the preposition used before the missing word. Don’t forget to write your answers in the form.
	Yes, it is.

	
	Most journeys in Britain and the US are made by road. Some of these are made on 1. public transport but most are by private car. In Britain many people rely on their cars for daily local activities, e.g. getting to work, 2. doing the shopping, and visiting friends. People living in urban areas may use buses, trains or, in London, the Underground, to get to city centres, mainly because traffic is often 3. heavy and it is difficult to find anywhere to park a car. Some places in the country may have a bus only two or three times a week so people living there have no 4. choice but to rely on their cars. In the US large cities have good public transportation systems. The railroad in Chicago and the underground systems of New York, Boston, San Francisco and Washington, DC are heavily used. Elsewhere, most Americans 5. prefer to use their cars. Families often have two cars and, outside major cities, have to 6. drive fairly long distances to schools, offices, shops, banks, etc. Many college and even high-school students have their own cars. Long-distance travel in Britain is also mainly by road, 7. though railways link most towns and cities. Most places are linked by motorways or other fast roads and many people prefer to drive at their own 8. convenience rather than use a train, even though they may get 9. stuck in a traffic jam. Long-distance coach/bus services are usually a cheaper 10. alternative to trains, but they take longer and may be less comfortable. Some long-distance travel, especially that undertaken for business 11. reasons, may be by air. There are 12. regular flights between regional airports, as well as to and from London.

1. A universal       B civil             C public           D common

2. A making          B doing           C performing   D preferring

3. A heavy             B large            C full               D big

4. A variety            B selection      C idea             D choice

5. A agree              B object          C prefer           D refuse

6. A ride                 B drive           C move            D transfer

7. A but                  B thus             C though         D and

8. A convenience   B usefulness   C suitability    D availability

9. A stuck               B used             C fixed           D puzzled
10. A replace         B substitute      C alternative   D choice

11. A schemes       B procedures    C ideas            D reasons
12. A typical         B regular           C ordinary      D normal

	Рефлексивно-оценочный
	What information have you learnt from today’s lesson? And what  would you like to know?
At home do exercise at page 67 in your workbooks.

Your marks are….

Good-bye.
	We’ve learnt strategy of doing grammar and lexical exercises. We’d like to know the phrasal verbs and suffixes of different part of speech.
Good-bye.


